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FORM OF CERTIFICATE
OF DELIVERY AND ACCEPTANCE

In accordance with that certain Vessel Construction Contract, dated July 2, 2004, by and between
J. Russell Flowers, Inc. (“Owner”) and Jeffboat LLC (“Builder™);

On this 7TH day of JUNE, 2005, Builder hereby tenders the Vessel, Hull Number *04-
2198’ Official Number 1170149, the “FMT 3158~ for delivery to Owner, complete in
accordance with the Contract Documents, and free and clear of all liens, claims or

encumbrances;

Owner, through its duly authorized undersigned agent, hereby accepts delivery of the
Vessel, and all of its equipment, material and components as complete in accordance with the
Contract Documents as of the date above written, except as to any exceptions noted hereon; and

Owner has tendered to Builder in immediately available funds all amounts due Builder in
immediately available funds all amounts due Builder under the above referenced Vessel
Construction Contract, the receipt and sufficiency of which are hereby acknowledged by Builder.

Exceptions:

Builder: Owner:

Jeffboat LLC FMT INDUSTRIES L.L.C.

Through its dul Through its duly .
authorized -¥P -BWS*( . Mﬁﬁzthorized ,f/%ﬂm;d é , (Aﬂ/?&&//u-@m

Bt Ton

F:\05 docs\Winword FLOWERS ACCEPTANCE.doc



JEFFBOAT LLC
A Unit of American Commercial Lines Holdings LL.C

FINAL RELEASE NOTICE

Date: 06/07/2005

Customer: Flowers
Vessel Name: FMT 3158
Official No: 1170149
Hull No: 04-2198

Type of Barge: LEAD RAKE TYPE TANK BARGE - CLEAN SERVICE
Dimensions: 297'-6"x54'x12'

Type of Cover: NONE

Job: 5198
Keel Date: 3/4/2005
Launch Date: 4/20/2005
Release Date: 6/7/2005

ABS Certificate: N/A

USCG Certificate: GRADE A AND

Quality Control Representative: DLPfister

Customer Representative: Norman Antrainer

Distribution:

Sales
Secretary
VP Sales
Contract Coordinator
Engineering
Quality Control (Original Forn)
Planning
Eng Secretary
Mold Loft
IE
Accounting Analyst
ACL Accounting
Marine Repair
Jeff Fleet
Production WASHNOCK



FMT 3158

500 Gallon fuel Oil Tank Strapping
Slop Tank Strapping
Cargo Tank Strappings
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98-04

FMT 3158

500 GALLON FUEL OIL TANK STRAPPINGS
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